—=HUSKY LINERS= parT No. 9405

HUMMER H2

REAR MUD GUARDS
INSTALLATION INSTRUCTIONS

Please read instructions thoroughly before installation.

Tools Required Package Contents
*  Short Phillips screwdriver *  Driver (LH) & passenger (RH) side rear mud guard
e Center punch / Hammer *  #10 screw (qty. 6)

Drill / 1/8” drill bit *  Washer (qty. 6)

U-Clips (qty. 6)
Instruction sheet

NOTE: It may be necessary to remove the wheels depending on the tools being used for installation.

1. Clean and degrease the mud guard location area on the fender before installation.

2. Remove factory fasteners from locations A and B (Figure 1).

3. Place mud guard against fender and install #10 screws and washers at locations A and B, through mud guard, through existing
fender holes and into u-clips. NOTE: The u-clips are to be used as a nut and not to be clipped over fender. Check fit and
level before tightening.

4. Using mud guard as a template, drill an 1/8” hole at location C and install a #10 screw and washer into u-clip as in step 3.

REAR FENDER

U-CLIPS ACT AS ANUT
& ARE PLACED BEHIND
LINER & FENDER
(DONOTCLIP OVER
SHEETMETAL OR LINER)

WASHERS
@W% o

Ui %7 T e
HOSCREWS *~

MUD GUARD

Figure 1

5405 H2 Flat Rear Ins#11702.doc
Rev: 0



